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QUESTION 1

Which API does CSO use to connect with a service provider\\'s OSS/BSS?
A. Configuration API

B. JET API

C. Analytics API

D. RESTful API

Correct Answer: D

QUESTION 2

Which statement is correct about CSO?

A. CSO is a complete orchestration system and can replace OpenStack

B. CSO has a gateway component and can be used to connect data centers

C. CSO can be used to establish and monitor LSPs in a service provider network
D. CSO can be used to manage VNFs at service provider\\'s customer site

Correct Answer: D

QUESTION 3

What are two benefits of implementing the Juniper Telemetry Interface for network monitoring? (Choose two)
A. It enables real-time security event monitoring

B. It enables real-time performance monitoring

C. It eliminates the need for remote data collectors

D. It eliminates resource-intensive polling of network devices

Correct Answer: BD

QUESTION 4
What is used to provide secure access to a VSRX in a public cloud?
A. authorized key pairs

B. SSH key pairs



C. private key pairs
D. public key pairs

Correct Answer: B

QUESTION 5

According to Juniper Networks, what are two recommended interior routing protocols for the underlay network? (Choose
two)

A.IS-IS
B. RIP

C. OSPF
D. EIGRP

Correct Answer: AC

QUESTION 6

What is an SDN solution?
A. Sky ATP

B. AppFormix

C. OpenFlow

D. Cyphort

Correct Answer: C

QUESTION 7

A customer wants to deploy a complicated service and needs complete control of all applications, servers,
and server operating systems.

Which type of service should the customer purchase in this scenario?

A. FWaaS

B. SaaS

C. PaaS

D. laaS



Correct Answer: D

QUESTION 8

A customer wants to provide advanced Layer 4 through Layer 7 security services for a VMware NSX
microsegementation deployment.

Which platform would you recommend using in this scenario?

A. ACX Series

B. vMX Series

C. vSRX Series

D. QFX Series

Correct Answer: C

QUESTION 9

Which two statements are true regarding the NorthStar Controller AP1? (Choose two)

A. The southbound interface connects to routers and switches using IS-1S, OSPFv2, BGP-LS, and PCEP protocols
B. The southbound interface is a RESTful implementation that can be programmed with a programming language
C. The northbound interface connects to routers and switches using IS-IS, OSPFv2, BGP-LS, and PCEP protocols
D. The northbound interface is a RESTful implementation that can be programmed with a programming language

Correct Answer: AD

QUESTION 10

What is the Web interface component of OpenStack?
A. Horizon

B. Neutron

C. Nova

D. Cinder

Correct Answer: A

QUESTION 11



What are two design concepts for a Clos IP Fabric? (Choose two)
A. All devices must be the same model

B. All spine devices must connect to all spine devices

C. All link connecting stages should be the same speed

D. All leaf devices must connect to all spine devices

Correct Answer: CD

QUESTION 12

What are two protocols NorthStar uses to provision LSPs? (Choose two)
A. IF-MAP

B. XMPP

C. PCEP

D. NETCONF

Correct Answer: CD
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